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Total Resistance

Resistors in Series

Row =R+ R, +R,...

As you add resistors
inseries, you increase
resistance. Simply add
the amounts together.
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Example: Calcuicte the
total resistance of this

15V~ .
Circuit,

1T

15V —Z Rr=R;+R;+Rs...

Rr=10+12+15
Rr=37Q
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Example: Calculate the total
Resistors in Parallel sy resistance of this circuit.
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As you add resistors in series, you open more paths for the electricity to flow, 1 =5 R;= 1 40
increasing total current, and decreasing total resistance. For resistors in paral- Ry 25
lel, the total resistance is always less than the smallest resistor.
A B c D 9. ) Calculatce the total resistance. 80
|
PR 72_ —_— e e
49 120 8@ g 7 ] i \ _ Wy i
a haly et —
1. What is Ryqy from A to C? léﬁ ,f:IL5 ”—"Fg:l_, ET/,F}S"’ W\/
£

. What is Ryyiy fromB toD? 2.0 (L
. What is Ry from A to D? 7 L] _(L/

. Astheseresistors are added, is resistancing

or decreasing?

Ast esistors are added, does current increase
or{decreage?
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10.How does the total resistance-compare
with the individual resistors? <145 [

11.Why? pwrove T (ysﬂzﬁ)
less E

12.The total resistance

1
6. Calculate the total resistance. W $E::?be Z:it(hin ooy T
2B 5L 10 sQé‘ 49?12@%
Vo s é 13.Which branch will °V
7. Calculate total voltage. 6V T — have the most current? T
,’Z v 6Q u ({
/\/\/\ 14.Calculate the total resistance.
8. Calculate total current. J,- + J/ + ,L — A PQT = 2 JL
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15.Calculate and label the total 24 jL 17.Calculate and label total voltage.

resistance for each pair of resis- -

tors in'series.

ors 1 serie I 30 108 18.Using Ry and Vr, calculate the
16.Calculate the total resistance for 8V sy 1282 total current in the circuit.

the two parallel branches. 50 ’0 _V z q —SA
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